Colutian

Name:
Quiz 1
The following problem is designed to need a minimum of algebra and hence be quick. You

t of the answers are simple expressions.

1. A graph of |3(z)|® is shown above. For this probability density, what is the expectation
of z: (x)7

<xp = fYoitdg = Od1xl+ 0151 + 043 + 024 +0.145
=3

2. What is the expectation of z?: (2?)?

< = [ IY0tdy = 01«17+ 02527+ 0.4 537+ 0.2:47401x5”
=10.2

3. What is 0,7

Os = /<x*> =< x>* =/10.2-3% =].2 ® Li

4. Write a simple matlab code to compute (z) and {z?}. (I will not be too picky about
getting the syntax 100% correct.)

pso = [0.1 0.2 0.4 0.2 0,1];
# =[tv 2 3 4% 51,

expp = Sum (2.¥psi),

exprl = sum( (z.42), % psi);



